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1. Kite

3. Isosceles Trapezoid

PRACTICE: KITES & OTHERS

Perimetep = m\—?\

5. Isosceles Trapezoid's Perimeter=164 cm
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6. Isosceles Trapezoid's Perimeter=85 cm
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In #1-6, complete each statement. Use the words parallelogram, rectangle, rirombus, or square.

1. Every rectangle is also a @@Cﬂ”&\\\@\@ %\(’ AR

2. Every rhombus is also a g? AX AN\ D Cfg( AV

3. Every square is also 2 Q0. ANANOUGMa C\NONOIAS  anda X LA L

4. A parallelogram with = diagonals is a '\('LC}( NN US\\QW ora S CiA o

5. A parallelogram with L diagonals isa X WD pABKS  ora S QAL
i

6. A paralielogram whose diagonals are L bisectors of each other isa X QY\DW\\oUQ& or

a Q)Cﬁ\b&«%‘(@«




For #7-12, ABCD is a rectangle, A 7o B
% G 4 -

7 IfAE=3,thenAC=_\0  BE=_ 2 Y |
BD- g adDE=_D

8. The three angles congruent to <ABE are:
LT, L00E . LDt

S 3 5 { o
9. Fm<BAE = 30, then m<ABE = BD m<AEB = \fLD , m<BEC= o R

p b h) O ¢

use for #7-12

8]

m<ERC = @O , m<BCE=_ 0 J , m<CDE = o and m<EDA= YO
10. Four isosceles triangles in the figure are; &P\{,(B ADLC NG . ANELO
11, Are the diagonals of the rectangle congruent? \t L

12, Are the diagonals of the rectangle perpendicular to each other? ( \©

For #13-18, KOMS is a rhombus.

13, Hm<KOS =25, then m<KOM = S50

14, AKOS is an 1sosceles friangle, Three other 1sosceles triangles are: ‘ T
A o € : e use for #13-14
AP S T AFONC T A-Sen (over)

15, Three properties of KM and OS are:
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| use for #15-18

16. If m<SKP = 50, then m<OKP=_SU  m<koP= YU meMoOP= YO~ |

m<OMP=_ 50U  m<sMP= DU | meMsp= D pegsp= HD”

17. Are the diagonals of the rhombus congruent? Q\G

18, Are the diagonals of the rhombus perpendicular to each other? \{ LS



For #19-20, FPHG is a square.

19, m<GFl= U\S . m<PF] = L“\S m<FPJ = ns

m<HPI =S mePmi= \S  m<gmwy= U5

&

m<HGI= S me<pgi= US| m<fig= A0

b

use for #19-20

20, IfHI =14, then FH= LX  Gp= LX

pi= \A = W m= W

21. The properties that a rhombus and a rectangle have in common are:

) Q{‘Q\g e }T\% Q’Q \e C/WC"\\\\L&D O;\'( OANNS

22. Three properties of a rhombus that are not properties of every parallelogram are:
o\ @\%@ wols el | L\ <) ALS
d\ﬁ\ (A %O\{\GM\S AL Z, B‘\SLQW%

23, Three properties of a square that are not properties of every rectangle are:

0 N A V.S N SR I

24. Two properties of a square that are not properties of every rhombus are:
(/\\ N USQ\(\O&\’) nie 2
W~ v \ 6%¥ LS



